
Let’s write an LL(1) parser for the following grammar for Prefix notation 

 

E  n | A 

A  (B)  

B   +EE 

B  *EE 

 

(Don’t type the spaces!!)  

 

What are the sets First(A), First(B) and First(E)?   

A must start with a ‘(‘ , B starts with either + or *, and E starts with a ‘(‘ or n 

 

What are the sets Follows(A),Follows(B) and Follows(E)? 

A is followed by ‘$’ or ‘(‘ or ‘)’ or a number n  

B is followed by a ‘)’ 

And since E reduces to a single number, which is followed by $, or what follows A, we have ‘$’ or ‘(‘ or 

‘)’ or a number n. 

 

Select Input, enter the First and Follow sets and build the parse table.  

 

  
 

 

 


